
DIVISION

Exercise



16 – 4 = 

12 – 4 = 

8 – 4 = 

4 – 4 = 

So,16 ÷ 4 = 

1. Fill in the box:

(i)



24 – 6 = 

18 – 6 = 

12 – 6 = 

6 – 6 = 

So,30 ÷ 6 = 

1. Fill in the box:

(ii) 30 – 6 =



28 – 7 = 

21 – 7 = 

14 – 7 = 

7 – 7 = 

So,42 ÷ 7 = 

1. Fill in the box:

(iii)
42 – 7 =

35 – 7 =



2. Divide by repeated subtraction.

Find their quotient in each case : 

(i) 36 ÷ 9

(ii) 8 ÷ 2 

(iii) 12 ÷ 3



(iv) 56 ÷ 8

(v) 25 ÷ 5 

(vi) 36 ÷ 6 

(vii) 10 ÷ 10



(viii) 28 ÷ 7 

(ix) 60 ÷ 10



3. Write two division facts for each of 

the following : 

(i) 6 × 8 = 48

(ii) 6 × 4 = 24

(iii) 7 × 8 = 56 



(iv) 5 × 4 = 20

(v) 6 × 7 = 42 

(vi) 9 × 4 = 36

(vii) 5 × 8 = 40



4. Write the dividend, divisor and quotient in 

each case : 

(i) 16 ÷ 8 = 2 

(ii) 12 ÷ 6 = 2 

(iii) 18 ÷ 9 = 2



(iv) 51 ÷ 17 = 3 

(v) 36 ÷ 6 = 6 

(vi) 49 ÷ 7 = 7



5. Fill in the box : 

1. 7 ÷ 1 =

2. 0 ÷ 19 =

3. 16 ÷ 1 =

4. 8  ÷ 1 =



5.  0  ÷ 8 =

6. 0  ÷ 5 =

7. 18 ÷ 18 =

8.  0 ÷ 18 =

9.  0 ÷ 10 =



10. 6 ÷ 6 =

11. 21 ÷ = 1

12.             ÷ 16 = 1   



6.Divide the following and verify the answer :

1. 86 ÷ 2

2. 90 ÷ 3

3. 80 ÷ 4

4. 82 ÷ 2

5. 69 ÷ 3



6.Divide the following and verify the answer :
6. 44 ÷ 4

7. 666 ÷ 6

8. 963 ÷ 3

9. 864 ÷ 2

10. 999 ÷ 9



6.Divide the following and verify the answer :

11. 819 ÷ 9

12. 497 ÷ 7

13. 105 ÷ 5

14. 936 ÷ 3

15. 366 ÷ 6



6.Divide the following and verify the answer :

16. 459 ÷ 9

17. 2826 ÷ 2

18. 3639 ÷ 3

19. 8168 ÷ 8



7.Divide to find the quotient (Q) and remainder (R) :

1. 23 ÷ 2

2. 45 ÷ 4

3. 69 ÷ 6

4. 31 ÷ 5

5. 65 ÷ 8 



6. 92 ÷ 9

7. 243 ÷ 2

8. 485 ÷ 4

9. 394 ÷ 3

10. 302 ÷ 3 

7.Divide to find the quotient (Q) and remainder (R) :



11. 405 ÷ 4

12. 801 ÷ 8

13. 121 ÷ 4

14. 187 ÷ 6

15. 649 ÷ 8

7.Divide to find the quotient (Q) and remainder (R) :



16. 817 ÷ 9

17. 2485 ÷ 2

18. 3935 ÷ 3

19. 3620 ÷ 3

20. 5513 ÷ 5

7.Divide to find the quotient (Q) and remainder (R) :



8.Divide :

1. 42 ÷ 3 
2. 65 ÷ 5
3. 90 ÷ 2
4. 171 ÷ 9
5. 168 ÷ 7
6. 945 ÷ 7
7. 840 ÷ 7

8. 564 ÷ 4



8.Divide :

9. 825 ÷ 5
10. 968 ÷ 8

11. 539 ÷ 7

12. 603 ÷ 9

13. 351 ÷ 9
14. 4800 ÷ 5

15. 5397 ÷ 7



8.Divide :

16. 5648 ÷ 4

17. 9680 ÷ 8
18. 8004 ÷ 6

19. 6006 ÷ 7

20. 7005 ÷ 3



9.Divide to find the quotient (Q) and remainder (R) :
1. 284 ÷ 3

2. 340 ÷ 6
3. 389 ÷ 4

4. 489 ÷ 7
5. 800 ÷ 6 



9.Divide to find the quotient (Q) and remainder (R) :

6. 700 ÷ 9
7. 900 ÷ 8
8. 509 ÷ 3
9. 4818 ÷ 8

10. 4900 ÷ 9



10.Fill in the box without actual division : 

1. 453 ÷ 10 gives Quotient (Q) =                 ;  Remainder (R) =         

2. 375 ÷ 10 gives Quotient (Q) =                 ; Remainder (R) =

3. 5432 ÷ 10 gives Quotient (Q) =                ; Remainder (R) =

4. 6538 ÷ 10 gives Quotient (Q) =                ; Remainder (R) =



A 79B

85C

11.Multiple Choice Questions (MCQ) Choose the correct option.

8 children can sit on a bench. How many 

benches are required for 656 children to sit ?

82



459 students in a school gather in the school field to do some 

drills. If there are 9 students in a row, how many such rows 

can be formed ?

A 𝟒𝟗B

C 𝟓𝟏

𝟓𝟑



2. The product of two numbers is 348.

If one of them is 6, find the other number

3. The product of two numbers is 648. 

If one of them is 8, find the other number.



4. The weight of 7 boxes is 364 kilograms. 

Find the weight of a box.



12. Fill in the blanks : Start from 1 to end at 

1.
1.



Fill in the blanks : Start from 1 to end at 1.



13. Choose the correct option. (MCQs)

Six buses are hired to carry 354 passengers. How many

passengers should a bus carry when each bus is to carry

the same number of passengers ?

A 𝟔𝟐B

C 𝟓𝟗

𝟓𝟖



A shopkeeper bought 650 eggs. He placed them in egg 

trays. If 10 eggs are placed in one tray, how many trays 

did he use ?

A 𝟔𝟓B

C 𝟕𝟐

𝟓𝟔



14.Fill in the blanks :

(i) 27 ÷ 3 =

(ii) 28 ÷ 4 =

(iii) 18 ÷ = 9



14.Fill in the blanks :

(iv) 16 ÷ = 4

(v)  24 ÷ = 8

(vi) ÷ 8 = 9

(vii) ÷ 7 = 8



14.Fill in the blanks :

(viii) 63 ÷ = 9 

(ix) 36 ÷ = 9



15.Write True or False :

(i) 9 ÷ 1 = 9

(ii) 5 ÷ 1 = 1

(iii) 8 ÷ 8 = 0



15.Write True or False :

(iv) 12 ÷ 1 = 12

(v) 0 ÷ 10 = 1

(vi) 1 ÷ 1 = 0



16. Divide the following and verify the answer :

(i) 884 ÷ 4

(ii) 640 ÷ 8

(iii) 8448 ÷ 4

(iv) 2884 ÷ 4



17. Divide to find the quotient (Q) and remainder (R) :

(i) 306 ÷ 5

(ii) 201 ÷ 4

(iii) 8089 ÷ 8

(iv) 5506 ÷ 5

(v) 4821 ÷ 4



18. Divide :

(i) 510 ÷ 6

(ii) 760 ÷ 8

(iii) 2400 ÷ 5

(iv) 1530 ÷ 2

(v) 6039 ÷ 9



19. Divide and verify the answer :

(i) 543 ÷ 8

(ii) 717 ÷ 6

(iii) 8007 ÷ 9 

(iv) 3003



20. Fill in the box without actual division :

(i) 9000 ÷ 10 gives Quotient (Q) =                ; Remainder (R) =

(ii) 8001 ÷ 10 gives Quotient (Q) =                ; Remainder (R) =



21.  Yogesh distributed 200 toffees equally among 5

children. How many toffees does each child get ?



22.  828 flags were distributed equally to 

9 schools. How many flags were given 

to each school ?


